The Sine Rule

v REVISE THIS CHECK YOUR =
TOPIC ANSWERS

1 Hereis triangle ABC. B

11cm

75° n
A C

Work out the length of AB.
Give your answer to 1 decimal place.

cm
(Total for Question 1 is 3 marks)
2 Hereistriangle ABC. 6 cm
A B
81°
Work out the length of BC. C
Give your answer to 1 decimal place.
cm

(Total for Question 2 is 3 marks)
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3 Hereistriangle ABC. B

20cm
14 cm

77°
A C

Work out the size of angle BAC.
Give your answer to 1 decimal place.

(Total for Question 3 is 3 marks)

4 Hereis triangle ABC. B
50 cm

38cm

Work out the size of angle ABC.
Give your answer to 1 decimal place.

(Total for Question 4 is 3 marks)
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5 Hereistriangle ABC.

19°

Work out the length of AC.
Give your answer to 1 decimal place.

cm

(Total for Question 5 is 3 marks)

6 Here istriangle ABC. B

12 cm 13 cm

Work out the size of angle BCA.
Give your answer to 1 decimal place.

(Total for Question 6 is 3 marks)
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7 Here is triangle ABC. A

>

18 cm

14 cm

Work out the size of angle ABC.
Give your answer to 1 decimal place.

(Total for Question 7 is 3 marks)

8 Here is triangle ABC. A @

9cm

60° 45°

Work out the length of AB.
Give your answer in the form kv/6 , where k is an integer.

(Total for Question 8 is 4 marks)
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9 ABC and BCD are triangles.

12 cm

O_l

14 cm

The area of triangle ABC is 154 cm?
Work out the size of angle ABD.

(Total for Question 9 is 5 marks)
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10 ABCDE is a regular pentagon
AEF and CDG are triangles.
FEDG is a straight line.

20m
8m

62°

Work out the size of angle CGD.

(Total for Question 10 is 6 marks)
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11 ABC isatriangle.
ABD is a sector with centre A.

9cm 15cm

32°

Work out the area of sector ABD.

cm?

(Total for Question 11 is 5 marks)
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